Find a and b for the correct interchange of order of integration:
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Evaluate the double integral H ydA, where R is the region of the (x,y)-plane inside the triangle with

vertices (0.0). (2,0) and (2,1).
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The volume of the solid region in the first octant bounded above by the parabolic sheet z = 1 — x*,
below by the xy plane, and on the sides by the planes y = 0 and y = x is given by the double integral
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A solid region in the first octant is bounded by the surfaces z = y*, y ==, y =0, 2 =0 and x = 4. The
volume of the region is
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An object occupies the region bounded above by the sphere x“ + y“ + 2* = 32 and below by the upper
. ] ) ] . " . * a . "

nappe of the cone z* = x“ 4+ y*. The mass density at any point of the object is equal to its distance

from the ry plane. Set up a triple integral in rectangular coordinates for the total mass m of the object.
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If D is the solid region above the xy-plane that is between 2z = /4 — 2% — y* and

z= /1 —a2—y2 then [[[, /22 +y?2 +22dV =
A = B. 4= CE: D. 8 E. 157.
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X, X
Find the work done by F = Xi + —j+ —k over the curve C in the direction of increasing t.
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